Recognizing Action Verbs 

Exercise 3
Underline each action verb.
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EXAMPLE:	The North and the South fought a war.


1.  Differing opinions drove the North and South apart.


2.  Southerners used slaves to work their extensive cotton plantations.


3.  The North developed an industrialized economy that was not dependent on slavery.


4.  The South imported most manufactured goods.


5.  The South, therefore, opposed high tariffs.


6.  The North demanded high tariffs to protect its products from competition.


7.  The election of Abraham Lincoln angered the South.


8.  Southerners rejected Lincoln’s position on slavery.


9.  The North supported Lincoln in his fight to end slavery.


10.  Such differences finally ignited the Civil War.



Recognizing Transitive Action Verbs p. 331

An action verb is transitive if the receiver of the action is named in the sentence


EXAMPLE: 	Sandy opened the window with great difficulty.

Window receives the action of the verb opened.		

Exercise 3
Underline each transitive action verb and draw an arrow from the verb to its object.


EXAMPLE:	The North and the South fought a war.


1.  Differing opinions drove the North and South apart.


2.  Southerners used slaves to work their extensive cotton plantations.


3.  The North developed an industrialized economy that was not dependent on slavery.


4.  The South imported most manufactured goods.


5.  The South, therefore, opposed high tariffs.


6.  The North demanded high tariffs to protect its products from competition.


7.  The election of Abraham Lincoln angered the South.


8.  Southerners rejected Lincoln’s position on slavery.


9.  The North supported Lincoln in his fight to end slavery.


10.  Such differences finally ignited the Civil War.

